State of New Hampshire Department of Transportation

Project: STATEWIDE NONE 28994 AND

MILTON NONE 28986

County and Code: CARROLL COUNTY 003, COOS 007, GRAFTON 009 &

STRAFFORD 017

Date Bids Open: April 17, 2014

Scope of Work: ROADWAY RESURFACING

Location: DISTRICT I, DISTRICT III AND MILTON

Completion Date: August 15, 2014

A PIKE INDUSTRIES, INC.

3 EASTGATE PARK RD BELMONT, NH 03220 \$2,141,315.00

B ALL STATES ASPHALT, INC.

325 AMHERST ROAD, PO BOX 91 SUNDERLAND, MA 01375 \$2,383,580.00

Item					A		В	·	
No:	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total
203.1	COMMON EXCAVATION	CY	6,200.00	\$21.00	\$130,200.00	\$20.00	\$124,000.00		
214	FINE GRADING	U	1.00	\$50,000.00	\$50,000.00	\$20,300.00	\$20,300.00		
304.401	CRUSHED STONE (FINE GRADATION)	CY	3,000.00	\$40.00	\$120,000.00	\$30.00	\$90,000.00		
403.11	HOT BITUMINOUS PAVEMENT, MACHINE METHOD	TON	3,750.00	\$87.00	\$326,250.00	\$76.45	\$286,687.50		
403.12	HOT BITUMINOUS PAVEMENT, HAND METHOD	TON	225.00	\$200.00	\$45,000.00	\$150.00	\$33,750.00		
403.6	PAVEMENT JOINT ADHESIVE	LF	20,000.00	\$0.36	\$7,200.00	\$0.23	\$4,600.00		
417	COLD PLANING BITUMINOUS SURFACES	SY	19,850.00	\$3.25	\$64,512.50	\$2.50	\$49,625.00		
418.32	EMULSIFIED ASPHALT	GAL	194,100.00	\$1.90	\$368,790.00	\$2.40	\$465,840.00		
418.41	PLANT MIXED RECYCLED ASPHALT PAVEMENT	TON	26,950.00	\$23.00	\$619,850.00	\$34.00	\$916,300.00		
418.51	PORTLAND CEMENT FOR COLD RECYCLING	TON	65.00	\$130.00	\$8,450.00	\$125.00	\$8,125.00		
418.52	AGGREGATE FOR COLD PAVEMENT RECYCLING	TON	1,350.00	\$20.00	\$27,000.00	\$27.00	\$36,450.00		
604.4	RECONSTRUCTING/ADJUST ING CATCH BASIN & DROP INLET	LF	5.00	\$350.00	\$1,750.00	\$500.00	\$2,500.00		
618.61	UNIFORMED OFFICERS WITH VEHICLE	\$	50,000.00	\$1.00	\$50,000.00	\$1.00	\$50,000.00		
618.7	FLAGGERS	HR	950.00	\$28.50	\$27,075.00	\$19.70	\$18,715.00		
619.253	PORTABLE CHANGEABLE MESSAGE SIGN (UNIT WEEK)	UWK	12.00	\$400.00	\$4,800.00	\$750.00	\$9,000.00		
632.01049	SHORT TERM PAVEMENT MARKINGS, 4' LINE	LF	21,250.00	\$0.75	\$15,937.50	\$0.15	\$3,187.50		
692	MOBILIZATION	U	1.00	\$175,000.00	\$175,000.00	\$165,000.00	\$165,000.00		
699	MISCELLANEOUS TEMPORARY EROSION AND SEDIMENT CONTROL	\$	9,500.00	\$1.00	\$9,500.00	\$1.00	\$9,500.00		

Item	Description			Α		В			
No:		Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total
1008.11	ALTERATIONS AND ADDITIONS AS NEEDED - UNANTICIPATED WORK	\$	50,000.00	\$1.00	\$50,000.00	\$1.00	\$50,000.00		
1010.15	FUEL ADJUSTMENT	\$	20,000.00	\$1.00	\$20,000.00	\$1.00	\$20,000.00		
1010.2	ASPHALT CEMENT ADJUSTMENT	\$	10,000.00	\$1.00	\$10,000.00	\$1.00	\$10,000.00		
1010.21	ASPHALT CEMENT ADJUSTMENT FOR EMULSION	\$	10,000.00	\$1.00	\$10,000.00	\$1.00	\$10,000.00		
				\$2,141,315.00		\$2,383,580.00			

			A -	PS&E Con	nparison		PS	S&E = NHDOT Cost Estimate
Item				,	A-Bidder	F	PS&E	A-PS&E
No:	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Difference
203.1	COMMON EXCAVATION	CY	6,200.00	\$21.00	\$130,200.00	\$6.00	\$37,200.00	\$93,000.00
214	FINE GRADING	U	1.00	\$50,000.00	\$50,000.00	\$4,000.00	\$4,000.00	\$46,000.00
304.401	CRUSHED STONE (FINE GRADATION)	CY	3,000.00	\$40.00	\$120,000.00	\$20.00	\$60,000.00	\$60,000.00
403.11	HOT BITUMINOUS PAVEMENT, MACHINE METHOD	TON	3,750.00	\$87.00	\$326,250.00	\$65.00	\$243,750.00	\$82,500.00
403.12	HOT BITUMINOUS PAVEMENT, HAND METHOD	TON	225.00	\$200.00	\$45,000.00	\$125.00	\$28,125.00	\$16,875.00
403.6	PAVEMENT JOINT ADHESIVE	LF	20,000.00	\$0.36	\$7,200.00	\$0.25	\$5,000.00	\$2,200.00
417	COLD PLANING BITUMINOUS SURFACES	SY	19,850.00	\$3.25	\$64,512.50	\$3.00	\$59,550.00	\$4,962.50
418.32	EMULSIFIED ASPHALT	GAL	194,100.00	\$1.90	\$368,790.00	\$2.65	\$514,365.00	(\$145,575.00)
418.41	PLANT MIXED RECYCLED ASPHALT PAVEMENT	TON	26,950.00	\$23.00	\$619,850.00	\$31.00	\$835,450.00	(\$215,600.00)
418.51	PORTLAND CEMENT FOR COLD RECYCLING	TON	65.00	\$130.00	\$8,450.00	\$200.00	\$13,000.00	(\$4,550.00)
418.52	AGGREGATE FOR COLD PAVEMENT RECYCLING	TON	1,350.00	\$20.00	\$27,000.00	\$17.00	\$22,950.00	\$4,050.00
604.4	RECONSTRUCTING/ADJUST ING CATCH BASIN & DROP INLET	LF	5.00	\$350.00	\$1,750.00	\$300.00	\$1,500.00	\$250.00
618.61	UNIFORMED OFFICERS WITH VEHICLE	\$	50,000.00	\$1.00	\$50,000.00	\$1.00	\$50,000.00	\$0.00
618.7	FLAGGERS	HR	950.00	\$28.50	\$27,075.00	\$22.00	\$20,900.00	\$6,175.00
619.253	PORTABLE CHANGEABLE MESSAGE SIGN (UNIT WEEK)	UWK	12.00	\$400.00	\$4,800.00	\$300.00	\$3,600.00	\$1,200.00
632.01049	SHORT TERM PAVEMENT MARKINGS, 4' LINE	LF	21,250.00	\$0.75	\$15,937.50	\$0.10	\$2,125.00	\$13,812.50
692	MOBILIZATION	U	1.00	\$175,000.00	\$175,000.00	\$85,000.00	\$85,000.00	\$90,000.00

\$1.00

\$9,500.00

\$9,500.00

\$0.00

\$1.00

9,500.00

\$

MISCELLANEOUS

TEMPORARY EROSION AND SEDIMENT CONTROL

699

A - PS&F Comparison

			A -	PS&E = NHDOT Cost Estimate				
Item				A-Bidder		PS&E		A-PS&E
No:	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Difference
1008.11	ALTERATIONS AND ADDITIONS AS NEEDED - UNANTICIPATED WORK	\$	50,000.00	\$1.00	\$50,000.00	\$1.00	\$50,000.00	\$0.00
1010.15	FUEL ADJUSTMENT	\$	20,000.00	\$1.00	\$20,000.00	\$1.00	\$20,000.00	\$0.00
1010.2	ASPHALT CEMENT ADJUSTMENT	\$	10,000.00	\$1.00	\$10,000.00	\$1.00	\$10,000.00	\$0.00
1010.21	ASPHALT CEMENT ADJUSTMENT FOR EMULSION	\$	10,000.00	\$1.00	\$10,000.00	\$1.00	\$10,000.00	\$0.00
				:	\$2,141,315.00	;	\$2,086,015.00	\$55,300.00